Summer Math
Worksheet 1

Simplify.
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Convert each of the following.
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Summer Math
Worksheet 2 - Percents

Solve using the percent proportion. Round each answer to the nearest tenth if necessary.

1.

18 is 90% of what number?

/8 6‘?
— = =20
X /0 x

Ga = 18D

What is 80% of 70?

X z

o BN
/O = 66O
X =5¢

4 is what percent of 2?

Q}ﬁﬁ
| - )00

K= 200

What number is 70% of 21?

2 ifT’
gl — /0
[0X = MF
X =/4F
11.5% of 70 is what number?
X 4SS

Fo - 120
lpoX = 805
X=<%.05

What percent of 70 is 0.28?
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What is %% of 400?
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8. 6.5% of 500 is what number? X=32.5

X, S

—— =

sw o
wo'x = 3260
x= 2.5

25

x
\

9. 3.4 is what percent of 13.6?

34 X
13.(, ~ (o0

13.6 =342
%X =L5

o
10. Forty-nine is what percent of forty-nine? o /a

11. This year the population of Darlington County is 156% of its population 10 years
ago. The population 10 years ago was 134,000. What is the population this year?
Round to the nearest whole number.

X _ 435 02020 “H D
124,000 /00
/00X = Jp 904 DOC
X =209040

12. The Davidson Bakery has 750 loaves of day-old bread they want to sell. If the
price was originally $1.49 a loaf and they sell it for $1.19 a loaf, what percent
discount, based on the original price, should they advertise?

4a-114 X%
T4 - o = 200

0> X
/49 ~ w2

[ 4Gx= 20
% 2012

13. Rita’s high school basketball team finished the season with a record of 15 wins
and 9 losses. What percent of the games played were won?

T/ x é,Z,s”f{ rvece  Wins

L Ay 12D
8x=56520
X=62.8



14. Everything in a store is discounted 10%. The original price of an iPad is $249.99.
If the sales tax is 6%, how much does the customer owe in total?

X
w’; 249995 ! Xy
R 24999 T 0 x_ Lok $23% 49
o499~ 20

2479.9 — /0x =2499%

— %= 22499, 100K = 384824
¥ =22449 X =238 4894
(MN Price)
15. If you use a 35¢ coupon to by a $2.89 box of ice cream sandwiches, what percent
off is this, to the nearest whole-number percent?
2 €9 /2D
2.89%x= 36
K= /2,71
16. Sue’s Sweaters buys a sweater for $16.80. If the sweater is then resold in the

store for $21.84, what is the percent of markup based on the original cost?

21.8%4 - [. 8D x
= 4
AR /0D gO/p

sS4 x
6% ~ 0o
L ¥x= s0Y

§=20

17. Below is the budget Sue has made for the money she earns weekly from
babysitting. Find how much Sue earns weekly and how much she plans to put
towards her savings and clothes.

Food 25% $22.50
Savings 20% 4 1<
Entertainment 15% $13.50
Clothes 40% H 30

na2
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2S5x% = 228D (0%=18D [0%= BLO
x <=9D % =12 x=>36
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Worksheet 3 — Properties of Exponents
Evaluate. No Calculator.

n s form=45andn=4
2n+1

45 45 _ f
(4« &+ 9

2. a(3b—8);f0ra=2andb=5

2 (21)-3)
2 (15-%)

2(#
14

3. X' =y +z forx=-5y=3,and z=-8

=5 Y+
26 -%-%
X5-)1b
9

o

(y+1)(3—y);f0ry=5
E (-5

AC:D)
~12

4




Simplify. Write answers without negative exponents.
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16x°yz*

2716 4

16. —20a°b’c

15a°b°c’

17.  4p’q*-5p’q’ —9pq+p’q’ -2p°¢

18. (6x4—x3—7x2+14x+11)+(8x3—10x2—2x+3)

-

'Di&l-r\\d~\"¢
19 (5y° =13y +15)-(2y" + 7" —6y—17)
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Worksheet 4 — Scientific Notation

1. The wavelengths of x-rays, in centimeters, is 3.048x10™°. Write this number in
standard form.

0. 00000000 304 €

12 3 2 3
2. One of the nearest stars, Alpha Centauri, is about 3¢,000,000,000,060 km from

Earth. Write this number in scientific notation. 3
3.9y% 10
e S S S
3. The diameter of a silver atom is about 0.68066006025 m. Write this number in
scientific notation. -10
2.5 X10
4. A speck of dust in an electron microscope is 1.2x10*millimeters wide. The

image is 5x10? times larger than the actual size. How many millimeters wide is
the actual image?

2. 24/77
[ 2 x lo* L
——— = p.24mm
5x10%
5. The speed of light is approximately 6.71x10° miles per hour. How many miles

will light travel in 1 minute?

/. /|8 X/ 0 ;Lm.'/f_s

bomin =lhonr

¢ FI %10 (WA
Ao Wt e

‘l\%" LOmin

6. If it takes light 8.3 minutes to reach Earth from the Sun, what is the distance from

the Sun to Earth? ]
9.2€%/0" m.les

A:\‘t

4 =(1gao)(8.3)

4 = 7.&&%/0*



Worksheet 5 — Square Roots
Simplify each of the following expressions. No calculators.

. 9 = @ 2. oo =io ]
3. 449 4. % = -3
=%(¥)
’:FL‘K (
5. 81+4121 6. 244003425
= 941 2(20) =3(5)

Estimate the following values to the nearest tenth.

7. V8 %/_.a 8. V80 2’—@

Write in simplest radical form.

9. ﬁ:%g_l 10. \//45 :/3\/75‘

1. */x—z‘/@ 12. \/a_f*;@

130\ 14, 2;1\9a1°5"“"
Y b +*+




Add or subtract the following expressions.

15.  43+73 16.  6J11+8V11
=W | = /LMT{
17.  4J13-9J13 18. 3\{; 2J—+J—
= 2 loa~
=-‘/:€\(T_:’>! & a
WE — 1ove—+ 4V L
|3V
Order from least to greatest.
19. 8,\/?1,9,\/5:6,@,6 20. \@,9, , 9.0002
S 4

3.

~l,.4 = I A GNA %
2 /= 54
Gy Vo) Vee, %, )/6—519 //‘fooo'l L, =

21. If @-@-@-@z/Z\%,thenwhatis O equal to?

e b
A8
4 4 4y

Find the missing side of the right triangle. No Calculators.

22. 3,4,5 Horamgle 23. 8
15
9
15 c
b
3| = R3S Lt + 225 =c*

|[o=|9-| ZE



24. 25. c
V265 12

12

a 5
A* + Qa}a = @E}a

B+ (oY = &
a5t =205

a2s + pd =c=

25212 169 =™

Draw a diagram and solve.

26. A 15-ft ladder is placed against a wall with the bottom of the ladder 60 inches
from the base of the wall. Find how far up the wall the ladder will reach to the
nearest foot.  LOindnes = 55t

0~;L+ \D&= C,a.
2
G+ =(8)

26 + b =225%

2
b =200

b =14 |4

:::/14 $eet

V4

27. Betty wants an ivy vine to grow on a section of fence in her front yard. To give
the plant extra support, she decides to run a wire diagonally upwards from ground
level at one end to the top of the other end of the section of fence. This section of
fence has a length of 1.2 meters and a height of 90 cm. How long will the wire

need to be? doem = 0.9 m
|.2m T aiL_ﬂg’l____ o>
2 -
9.4m (09)+ (1D = ¢
%, ‘
43 O.g\ +Lud =™

1- \ 2.a5 =™
N & =¢C
/ Tle wice will neel Fo be lfs"mm




Worksheet 6 — Algebraic Expressions

Let x = the number. Write an algebraic expression.

1. Seventy-eight decreased by a number +38—X
2. Seven more than the product of a number and 5 Sx+F
% -l
3. Sixteen less than the quotient of a number and 3 3
4, Three times the sum of twice a number and 9 3 <9~ x + 9)
LAy —
5. Nine times the difference of half a number and 4 4 (0'1 X —H >

Write word phrases for these expressions.

6. S5x+4
7. 25-2y
8. 6(m+4)
9. 7(3b-5)
10. 5—9

2

Four moce. Haon  Live himes A nuber

ﬂLI(IQ:t(‘CnLC 7~ 25 /\.r\.j +’\/1¢¢ ac I’lk\.mlaef'
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Simplify.

1. 6x+3(2x+7) /2 %+ F
N+ 6x+F

12. 8—(5g-7) —o9 15~
‘5——‘&3 +3F

13, 12-5(2—m)+7m 12m + Q.

I12-10 t5m + Fn

14 6(y—4)+10(2y+3) 2by * G
(oUw,ZLf +ozon—r5o

15, —3(4k—5)+2k—(-13k+5) 3le %10

—12k+15+2 +1 23k - 5

16.  4(9n-1)+53n+7)-6(n-7) 4E5n 4+ F3

3on-4Y 4150 t535-lbn +4X



Worksheet 7 — One-Sided Equations
Solve each equation. No Calculators.

1. 2n—5=17 2. -79-8y=-15
2n=22 —&y= (4

e =

3.0 Zmii2-28 4. é(lx+1=3>
3 (2773 3
%leé'i Ix+2r=4

5. D@.3m _8.4-= 7.2)

Im -8 =F

6. lo@z.é =0.6+1.5x)

126 =6 + 15

Im =50 I120= |5%
7. §+13=17 g, "6
et HED -2
ac? nt3=-39
( !n=~°f9~$
9. 3(y+4)=6 10.  15=x+6-10x
"31: I8 7= —7%
[+ Fizx,
1. 2(3-y)+6y=12 12.

4(p+2)-2(1-p)-4p=0
47("‘?"‘2*'9‘97"([” =0
2p ¥l = 0
ap=—C
P==3




Worksheet 8 — Two-Sided Equations

Solve. No Calculators.
2. 6(c—2)+4c=8c

1. %+3=8y+i’
~0% R by —
d be —12+4c = a
ke vo- 12=Ra |C7C
521 - Tioe
— /2=
x= 4, —12(x+3)+2=6(x—-1)+8&
-tsoi-i&x AR J}& (x+3) (x=1)
g = 15 ~125%-36 +2 =éx—(o*?
— —X2x —3% =G Xx +
-r/)gy-;z ti2x — -

[ =]
—36=]8x
24< 5 3> . ;;Z 1+3x:z>
2473

8 6 4
- +9% =28

I9x =29

An-20 =%
2in=23
n-lg /96:3’2/‘7‘

[n=13i
8. 2(5w—7)=9w+17

7. A(p+5)=2(p+40)
“ptdo = 2p+8D 10w =17 = G +/7
,,'Zp =60 @
S =20
Y 1 3

9, 5c—224c+1) 10, 3(2x+4)=2(9+2x)
20c -1=lbe + 3 bx +12 = 18 +49%

2 =L

44_—.—..+
{c,-\ { }/x-«b{

1. 7(3x—2)+4(1-x)=9(2x-5)-3(x-5) 12.%(%(%10):%(“20))

—2x— |+ = S x-ys -
X =18 x-45 -34S 3[&-140\:5[4«*355

—28%—\D = —
&% ~20 La B0 =St lodD
2 =220

— 405 =—22D
= 1
[ ;g {a,:é"/%



Worksheet 9 — Word Problems
Write an equation and solve. Write answers in a complete sentence.

1. Find three consecutive integers whose sum is 66.
s
x= [ .
Lo,fu |zt X+t + % +2=0b /'TL'« "“("/“5 i 2, 22400 23,
x+2=3% x4+ 3=t -
3X=63
X =221
2. Find three consecutive even integers whose sum is -186.
-6
bj_,i“;:/ K +Xt2+x+4 =% m?¢r5 br =L, b2, an A= LD
/)6+‘—/=3’;‘( 3Xtb =—I8L
3x =— |92
X=—b4
3. Nine less than three times a number is twenty-seven. What is the number?
3x=3¢
K= 12
4. Find four consecutive odd integers such that the sum of the least integer and the
greatest integer is 164. 2 2 Jre
. ? ?) 3 S ¥ .
Lk x=# K xt b= 164 Tl integers a TH T
»12 az’:ﬁ ax = 1568 T
¥t =¢3‘.; %= F4
xl =yt
5. One number is six times a second number. Their sum is 133. Find the numbers.
ot
M—x:lfﬂ X+bx = [33 j Vl-l— nimber e 19 A«n.y( “47
by 7% Fx =133
x=19
6. The difference of two numbers is 16. The first number is five times the second

number. Find the numbers.

W;Fg-o sx- X = ) ] 'ﬂ,._;,\/-]'cra A 4&»4(- 26,
§x =al= 45 =g

%= 4




7.

8.

9.

10.

1.

Thirty decreased by three times a number is six less than three times the number.
Find the number.

L*"-:‘H-LMM\OU 20-3x= 3x- L Te nembec 1= 8K,
3=(% —
L =%

Four times the sum of a number and three is seven times the number decreased by
three. Find the number.

e number 13 Five,

Lk %= Ho vmloer 4/(/){-\-:5\-: Fx-3

Lse+/12 = F%—3
15 = 3%

5 =%

A gallon of milk, bread, and a bag of fruit cost $15.20 at the market. Milk was
$2.59, and two loaves of bread together were $4.30. How much did the fruit cost?

(hx= ca#/& fruit

2.5%9+ 430 +%=/5.20 | Tl bag oF Fruit-
LB39I+x =520 cort- #8.3l.
X =8.3)

Cathy is 6 inches taller than her brother Marcus. Find Marcus’ height if together
they are 11.5 feet tall.

Lt m= Marens L"'J""L mem o =132 blindres =5.55€
b = Cathy's hoglet Zmtl, =138 Tt S,
(L56t = 13Finches Zm =132 (ﬂ\arcw) 1502
m = b

If % pound of meat costs $3.90, what does one pound cost?

Lt x=cost
3553 [ gl b HE20
1 X
——
‘q.gxras.q)

x =562



12. A new car sells for $12,500, which is $500 more than 15 times the cost of a
canoe. What is the cost of the canoe?

L')(" C-‘—&"“ﬂy&nno |15¢ + SO = /2,500 /46&'10‘5 ooj!é #W
]5¢ = /2,000
C = 800
13. If Sarah was driving a race car at 200 kilometers per hour, what was her speed in

miles per hour? (1 mile = 1.6 kilometers)

oY, e

Sk was Arving

W W 125 mi i,
N—
14. Eileen practiced her piano 15 minutes longer on Sunday than on Saturday. If she

practiced a total of 41 minutes this weekend, how long did she practice each day?

X =34 K+ stls =4 L.l pradieel /3 mia
X115 =5wn 25 +]5 =44/ on Mhrla,a ank 28
A =2b min oan 5“"/'°(7'
2 =13

15. One large container weighs 2.5 kg less than the other. The weight of both
together is 121.5 kg. What is the weight of each container?

[.n’(’)(: IJ&:JL?L%A@J’ )(4—%,02,5‘:/92/,'3’ ﬂ;qp/b/’ M’WZA-"Mr A/o;a/j
S0 = Wer _ nL cONA
N-2.5 = Wit seeank 2 x-2.5 =125 Goks, o 5222
n = 124 weighs 695 k.
5 = b2
16. The sum of an even integer and twice the next greater even integer is eight more

than four times the greater integer. Find the lesser integer.

o ke
ikt = Fokger Kt 2(x+2) = 4 vy kg | Toibejers e

sond -
Y12zl inte 12, anl =D
o “ K+Ax+4 = 42+ R+ (2. and =D

3x+d = Y+l
—12 =X




Worksheet 10 — Inequalities
Solve each inequality.

1. 4?zé§
(3

5. $+8x£46
- -t
%‘Xé@

€

Kes5

7. 3—m< 15.5

Mmi-25

Solve. Graph the solution set on the number line.

9. 3x+11-8x-5<-21

——5x+t < —-:u

— Sy JL:}
N> 2 s

10. 9-12y+4+6y>-5

3 - by > -
B Ry
——63 4 —\?

3L3

—4Am <32
4

m>-3

27>-10n+n

=

-3ZNn

43 -\4b <1 b—‘g
413 4 Hyb < |

5L 458b
=X
24b

—_£> -13
5\%»—/&-5‘

k> -380



1. —g+7<4z-\8 e f-mmmm- -DIrsn->

4240¢ 1T Y

5 e
X5 £ 42
¥
§47Z

12. 5(m—6)=10(m—-6) SV L m— T—

SEm-230 2 lom—(0
30=>25m

b 2Zwm

13, —7(x=5)+2x<2(2x+1) S E— sy
—Fx+ZE 2% L Yx+2
B5-ox L Ynt

—Ix £ -3

x>

Write an inequality and solve.

14. Twice a number, subtracted from 35 is greater than 15.

Lok % =Ha numbec
35'2’)6 >15 A—“ r&ﬁ-g\ vw.w\.‘ogrs I6$$

2> 20 Fhan 10.

X & 1O

15. Betty bowled 146 and 201 in her first two games at a local tournament. What
must she bowl in her third game to have an average of at least 180?

Lok x = S‘Z’amm

Met2014% e Ry sl bortl F
> least & (73
33 +x Z SY

Xz193



Worksheet 11 — Geometry

Solve each problem. Be sure to show the appropriate work.

1. Find the circumference of a circle with a radius of 42 mm. Use % for .
A
C =20 l =°2(2~_2~>('4/g)
/c/—._;z,ﬁ
2. Find the volume of a rectangular prism that is 14 cm by 18.5 cm by 25.4 cm.

V =lwh v = (4 1ge)a54)
[v= 45%.4057

~—~——
3. An angle is fifteen degrees less than nine times its supplement. Find the measure
of both angles.
X+Fx—]5 = ]8D /759,1,,,@ /40,5'0
4— ad X=/95
4. An angle is six degrees more than half its complement. Find the measure of both
angles.
? K+ ZX L =90 54°and 347
" Fx=g4
Tx+L X =56
5. The base angles of an isosceles triangle are three more than seven times the vertex

angle. Find the measure of all three angles in the triangle.

9('-(-3_(9-9(,-‘-5)':[33 VC""C%;- ”:&o
Xt 4%+ = )80 base anale -84.2°
s = 39.
15x =34 1
2= .b

6. Find the perimeter of a right triangle if one leg is 24 cm and the hypotenuse is 30
cm.
20 2+ (@™ = (39Y P=18+24430
PR 324
24
a=1%

I 3,'4!54-*"\&.'\5‘& I



7. Using the diagram below, find the measure of XACB .

B
x—1 124° LA+LB = L BED
20%) tiod
2x+30 2x+100
>
—
k)
AxxBOTEX-E = 2Zx 4100 ,g?, / mLALTS =l{»(,j
-3
Fx4+ 15 =2Ax+tLod T
bx =45
X =13}
8. Find the value of x.
< »m
11x+5

m||n

wb\'L ‘u\,\e.(ib‘— & l&_s
13x5 Al ki

< / >n

x+5 = 1>% -5

lo =
5 =X

9. What is the measure of one exterior angle in a regular decagon?
10 sides =
lbx = |a4D Go-Diso = 1u0®
] X = 144® l
10. How many sides does a polygon have if the sum of its interior angels is 2160°

[go(n-22)=2\Lo
nw—22 = 2

|V\=l‘-\'€\9—‘é!



Worksheet 12 — Graphing
State the quadrant in which each ordered pair can be found.

1.

3.

5.

(-3.6)

(—5,-11)

I
(0.6) e

(-3,0) Y65

_ T

il
RIS

Write each equation in slope-intercept form. State the slope and y-intercept.

7.

*®

10.

1.

3x+4y=16
43=—3y—+|u

4= Fr

6y+3x=15
(z‘lf_ “2xH\S

5

_ |
‘3; 0—2'4(+3_—

8x—12y-24=0
EX-24 = /e’Zg

g =~%Y+‘f/ m-:—a/q . b=-4

=L, 5
61"" 22Xtz , vn=’l/o'Ll. b=5/a

2
g.l 539‘-;}"‘52/3; 1o=—2

=‘§%—9/ m:_%/ b=-%

Y
d

-3 -
g: Q’K+IO, m= 5/4 , L_a-.-_(o




Find the slope of the line.

3 -5
12. m= F 13. m=_ =
Y Y
9 g 10 _-&
’ M=y =+
y.4 n= | ]|T
W = ~ 5
‘ p—
F\.‘f‘q 7 e =10
0 i3 0% 0 Al ] 0
/
/
5 5 N
/ .
m= -
Find the slope of the line passing through the following points: K~ %
14.  (4,7)and (6, 11) 15.  (2,4)and (3,-2)
-2-4 —
-3 4 -~ /= —= —-g
- = L = VY\ = -
m o9 = R L 3-2 \
16.  (-5,-8)and (2, 4) 17. (-6, 5) and (2, 5)
S-S5 _ o
| Arw 12 Mm="723. T g =°
T oa+5  F
18.  (3,-12)and (-8, -7) 19.  (7,0)and (-1, 4)
T r2 5 m= i3 €7 &2
- -3 l
20.  (-9,3)and (-9, -7) 21. (2, -15) and (20, -3)
-3-3 _ -lo_ . m3ns o 2
™ = = =3 = undefnel M= = g = =

-9+ 4



Worksheet 13 — Graphing

Complete the table of values for each equation and graph.

1. y=x+2
K
X y = ~342 =0+
-3 -\ n 'j'-'-“l ‘2\"‘1
1 [ o7 4 1=
0 L i
3 = \\(Q\ \6':-1‘['9. '&%3‘('1
{ - —
e
< o >'X
W
2 y=-2x
19
x |y 3:’:(’13 e
2 | 4 - d- {2
0 o Lad) -
0 ey \'l la—:. 01‘03 J"'&(a'B
2 | -4 1NN = g="
< > ¥




——lx+1
775

,Z :Z it a:"é(—#}-«-l 4= 22y
0 | 1 i=2 =0
2 o
4 1\ > (a 5-;71'(03-(.] a:"i(‘#}-‘-]
4o
. .”‘:I . % ‘% = l ‘1’: '_l
- AN i
(& )
L!"‘
W
y=3x-1
A
x1 l} agsa-ls-l 3:36% ~f
5 - / \3—.'-11" &—_;L
1| & 231 =3 -1y =3 -
2 | 7T { 4" I
o) 4= 1=
< / =X
V) D
/ N
(4 Jy
NP
/
Vs
W




Find the x- and y-intercepts for each liner equation.

5. 6x—-12y =18
9_{21“"’, Let a: o

bx=18
x=35

(3.:0)

6.  3y+2x-15=0
K- Led {I= o]
Ax-15=0
Ax= 1S

xX=1%4_
S
(%A ,0)
7. 10y—12x=-30
A-ink Ln)ra:o

-12A%x= -%D
_ S

(%.,0)

8. —5x+3y=45
g Leky=o
-Sx=45
Y= -4
¢9. 0

9. Tx—4=24
w—: Let 4=o
Fx- 4=24
Fx=2%
X=H
(4.2
10.  —6=3y-30
o-int. Let 4=°

No ¥-ind

a—_‘:ﬁ-i LetA =0

"'9.35 ‘g
-3
& 3
(0,22

%—M-‘—t Ler X=0
%'3— 1S=D
3\3=IS—
94=5
D)

%—-i(\"‘: Led xX=0
lOl& =-30D
4=-3

(0,-®)

3'”’"‘-’ Let x=0

%v&"—' Hs
4=15

(015D

s&—m\-: Lk x=0

NDb a—-:«‘l'.

3—41'.— LeA x=0
- = 3._&-30
2% =3y
=4
(0,8)

@/D} // (01—3/9—\

(%., 5 /lo, )

(%.,0) / (6,-3)

(-9, 031/(01 )

G’/@ //\lona

ANone //(0, £)




Graph each equation using x- and y-intercepts. Label the intercepts.

11. 3x-6y=12

3Ix =/ —b«( =12 A %
9(:'1' Y= -2
() (0,-2)
= e
o=5
/Z
0

12. 4x+2y=16

qﬁ(””’ 2"&’-"@ N.ﬂa’
=1 gew GER
(4.0y (.0(?\
\
\
\ i
\ @

g

il




Worksheet 14 — Graphing Linear Equations
Graph using any method.

2. Ty —14x =-28

1. 4x+2y=10
2q=-4xtlD Mm=-2 Fy= I4x-2% "=
4--ax+s  b=5 goax—t b
A ¢ "3
N
2 &
Fd /A
\‘\/'
N/
NN/
o _':.x = i }X
=
T
2
3 ~
6 (.51 Y )
\J ’
/
.
R R
3. 5y—=25x=10 4 3y—x=12
§94=26% +1D m=5 33'=')C+'1 m=3
gswa %R jyert o
Lo T
i
(i —
—
/ N o — (345
2
< / g‘ < nil X
:I
§p fens
Jf
2l
A
R R




6. 3y—-12x=6

3'4.-\39("’L m=4
=~ 4qx+22 -
4 g b2
I N /
k [ L\
;&)
\
\\
(o
, x =AE x
< 3 < / >
\ 29\
\ I A
t N
v/
\ N
\ 15
\ /
\ 4
W
x+4y =36 8. 4y +4x+2=-2
Hy=-x430 Yy=-dx-Y
—va
d N
4
>
ER) i
N - N [5=. |\ -
5=
Y
W




9. 6x-3=12 10. —-8-2x=10
b= 15 x—,'nl-:él 5,0) =¥ g-int: (=9:0)
SV T
R u
(K} !
< %
. X B X
/
W V/ W
1 .
1L AAp+16=24 . 1o oy 1. Jy=3=-5 4y-2 yoidh )
Y=- #d J\a
. X, X
NN X e >
(oF / &=t s,
=9
W W




Worksheet 15 — Systems of Linear Equations

Determine whether or not each ordered pair is a solution to the given system.
Show Work.

1. x+y=4 2. -2x+y=6
2x+y=5; (1,3) x—y=-3; (-2,2)
=t Dt =L

t= 4+a= L
200+>=¢§ b=ty
2+43=5 9y = -
525 v 2_3;_;

aﬁé /\)D

Solve each system by graphing.

3. x+y=1

x—y=-3 Solution: ("’l a)
3:-%1—! «Z]—. -X-3 3
VV\?.'»" 3’)%"'3 ~Z T ‘L /

- XX 57
b= wm=\ 0 QL

b"-’b 4
[ 2N

g

1
(>4

v



y=3x+1

y=-3x-5 Solution: ( =/, -2
J\g
=2 x+ —
\a 4 sx-5 N /\
moE m==3 ) /Y
b= b=-& S\ /i
; \ [
\ /
3 4
= i X
VNN
)T i
oy
[ ]\
/R
/
\
/ X
'\n"l!
y=2x+1
2y =4x-10 Solution:  No  Solulson
\a =2+ 24=4x-10
m=d 3.,_,29(_.5‘ “g
b’;l - / A
Wl = oo '}E[" X
b_ y/) ‘\
=-5 ‘)J 'd
4
D,
. X
/
/
/
VA /
/
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¥
¥




y=2+x

x+3y=18 Solution: (3) 5)
Y= 2% X+3y=1€ 1+ 4
m-;[ 3&“-’- 'QC‘Hf 4:\/9 .%V / 71
-1 =
b=2. 3 - g‘%‘[‘(p = oo VIR
m==Ya ™~ )\2.' )
< X
af‘iﬁ
A
/
N
W
1
y=—x-4
3
3y=-12 Solution: (0, “"/3
a:%x—q '5;1:-——/; “5
——L L — -
™ “3 "*
b =-Y 3,;/\4—: lo,~4)
. X
b
8 aill -
L1 T J
= ual- 'L'
W




Worksheet 16 — Linear Inequalities

Graph each linear inequality.

1
L x+2yso 2. x-3y>3
A A y
SHET T
A 7 ‘\!’)‘;'}‘ )
117] X P
17 : =N
AN, - AN AWAVAN
. A/ 14 1 1 — J1V
{/4/4va /11 ~ \LI\
IVAVLA/I7 AV e/ \
7/ Al V] /
TS N\l
asi \
l R R
9(+235;L m==% ot0fh X-34y23 M’é 6-02z3
2y e-x+E be | Y, 243 ba- oz 3
qedee T g "
3. 2x+y<5 4. 2x-3y<12
A 1Y
\
1 \
//7 A ¥
1/
4R N \
//)%/ a R \| b 7
/ \ N NC, .
. 1 \ I ) Y X
) S0 pAREED ) NNV A
) 7/ARRY: N
/e S \ A\| d
4V/a N NMMAVRN
y. 477 1N AR
)2 EENEN \WNE
74 ] :‘7%
/ Y\ ANNNE
R R
2x+Y 45 m=-d O0+ols Q=34 L12 m=25 p-0412
oLs

UL-zx-(-g b=5 -

-3:]1. ~2xXH. b=-¢ oLl
z?%’l{"‘f v



5. 4x-y<4 6. 3x-5>10

1‘3' ’:1

y;
7
| /
N -2
\
QY ¢ 2
A\ A
N Z
(10) [N % oY ]
. . v l/
N\ 7
AN cy
\ v
*? A
X/ 2.
NN/
Ve
/ /
12 g E ‘/
-y Lt m=Y 0;0:—-: 2x-5 >10 6-5 >1o
-al‘._-l{')(‘f"‘ b=-4 ; 3x >S5 -S7io
z 4x- X>5 X
{
Solve by graphing.
7. x+y<2 8. Jx-y<2
2x+3y<3 —4+y<5
/
’% ys49 X A
N g [ i S
N :l/ 1 L
N
N / NS ‘u I
A a7 \If\ A \
SATN IO \ i
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/
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/
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m=-1 4 BHH Y73x-2 —4+0¢ 5
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